SOLUTION OF TRIANGLE- EXERCISE

10.

If the angle A, B, C of a AABC arein A.P., then :-
(I)c?=a%?+b%-ab 2 b2=2a%+c?-ac
(3)c?=a%+b? (4) None of these

InaAABC,b= 3 +1,c=+3 -1, ZA =60°,

(B-C) .

then the value of tan 2 is :-
(1) 2 (2)1/2 31 (4)3

B C .
In any AABC, the value of 1 - tan Bl tang is equal
to :-

2a 5 2b
(1)a+b+c ()a+b+c
Y | 4 fth

(3)a+b+c (4) None of these
Ifc2=a?+b% 2s=a+b+c, thend4A?=
(1) s* (2) b%c? (3) c%a? (4) a?b?
If in a A the ex-radii r,, r,, r, are in the ratio
1: 2 : 3, then their sides are in the ratio :-
1)5:8:9 21:2:3
3)3:5:7 4)1:5:9
If in a triangle (r, - r)) (r, — r,) = 2r,r,, then the
triangle is :-
(1) right angled (2) isosceles
(3) equilateral (4) none of these

In a triangle ABC, (a+b+c) (b+c-a) = kbc if
1k<0 2 k>6

B)0<k<4 @ k>4

The perimeter of atriangle ABC is 6 times the
arithmetic mean of the sines of its angles. If the
sideais 1, the ZAis

(1) 30° (2) 60°
(3) 90° 4) 120°
In AABC, if side AC is double of side AB then value
f té t _ ig -
of cot 5 cot—o—is:
1 1 1
13 @-3 (3)3 (4) 5

In triangle ABC of r; = 2r, = 3r,. Thena: b is
equal :-

7 4
v @7 @r @

11.

12.

13.

14.

15.

16.

17.

18.

In AABC, if cot é , cot E , cot g arein A.P. Then
2 2 2

a, b, carein :-

(1)AP. 2)G.P. (3 H.P. (4) None

The ratio of area of a regular polygon of n sides

inscribed in a circle to that of the polygon of same

number of side circum scribe the same circle is

3: 4, then value of 'n'is :-

(11 28 (3) 12 4)6

In a triangle ABCa=4,b= 3, ZA=60° Thencis

root of equation :-

(1)c2+3c-7=0 (2)c?-3c-7=0

3)c2-3c+7=0 @ ct+3c+7=0

In a right-angled isosceles triangle, the ratio of the

circumradius and inradius is :-

M2vJ2 +1):1 @ K2 +1):1
¥2:1 @ 2 .1

The exradii of a triangle r , r,, r, are in HP, then
the sides a,b,c are

(1) in HP (2)in AP

(3)in GP (4) none of these

Givenb =2, ¢ = /3, ZA = 30°, then inradius of
AABC s :-

J3-1 43 +1
(1) 5 (2) 5
(3) % (4) none of these

In a triangle ABC, /B = g and 2C = % , let D

divide BC internally in the ratio 1 : 3 . Then

sin(£BAD)
m is equal to

1 1 1

— £ - 2
(1) N 2) 3 3) 3 (4) \E
If sin © and — cosO are the roots of the equation
ax?-bx —c = 0, where a, b and c are the sides of
a triangle ABC, then cos B is equal to :-

c c c c

Ml-5 @1-2 @légy @i+
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19. If A=75°B =45° then b+cy/2 is equals :- 26. Inatriangle ABC,if b+c=2aand ZA=60°,
(1) a @2 a+b+c then AABCis
1 (1) Scalene (2) Equilateral
(3) 2a 4) §(a +b+c) (3) Isosecles (4) Right angled
20. In equilate.ra.l triangle, ratio of inradius, cirum radii 27. If the lengths of the sides of a triangle be 7, 4\/5
and exradii is :-
1)2:3:5 (Z) 1:2:3 and \/B cm, then the smallest angle is
33:7:9 43:7:8 (1) 15° ©) 30°
21. Value of l2+l2+l2+l2 is : il =l
1 L T 28. If the median AD of triangle ABC divide the angle
10 g) & b7 +c’ BACin 1: 2, then S0B i
(1 @) A? o sin C
A? a 48 A"
3 A q) ——— "~ 2A
) aZ +b%+¢? @ A (1) 2sec (Tj 2) 2cosecé
22. InAABC, a=6,b=3and cos(A—B) = 4/5. Then 3
area of triangle is
(1) 4 square-unit (2) 6 square-unit A
(3) 9 square-unit (4) 12 square-unit 2A . seC?
23. Ifin a triangle ABC, (3) cosec ) @) 2
2COSA + okl + ZCOSC = i+£ then the 29. In AABC, sides a,b are roots of
a b ¢ bc ca’
value of the angle A is \/Exz _3\/§X+1 0 and ,C= T ' then
Wy @7 B @z !
3 4 2 6 a2 + b+ c?is -
24. Value of the expression b—c+c—a+a—b is (1) 182 +1 @) 18+2v2+1
h 1) I3
equal to - (3) 18+2\/§ (4) 17—2\/5
(1) 1 ) 2 (3) 3 @0 30. Ifregular pentagon and a regu?ar decag(?n have- the
25. Inatriangle ABC.a:b:c=4:5:6. The ratio of same perimeter, then the ratio of their area is :-
‘the radius of the circumcircle to that of the incircle 1) 1:4/5 2) 2:45
1S :-
6 . 3) V5:2 @ 5:1
1) — 2) —
(1) 7 (2) 16
6
(3) 3 (4) none of these
Que. 1 2 o 4 5 6 7 8 9 10
Ans. 3 1 4 1 1 3 1 3 2
Que. 11 12 13 14 15 16 17 18 g 20
Ans. 1 4 2 2 2 1 1 3 3 2
Que. 21 22 23 24 25 26 27 28 29 30
Ans. 2 3 3 4 1 2 2 4 4 2




